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K2 FEiE I % iK% — I , U7 J1 E M (Listening Comprehension ) Wl 5 % A it , B 4,
CAZE M RREE S . R AR EEBBREAMESN—T. WHTEKRENSGS . BE4E
MEEEE —HRBHL 5T, ﬁﬁ‘:“l’i]‘ﬁii@.ﬁﬁ?xﬁ%ﬂll% ﬁXTI&ﬁﬂE%m%EW‘Wﬁﬁ
EARAFED.

KEFEENREBHE— I)ﬁ”}fjjﬁﬁﬁ-} A.B W:"‘Bﬁ'(senctlon A, senction B), 3t 20 /i,
A BHE] R 20 438, A F4r& 10 A Xt 3 (Short conversations) , A H — B —& X &, WMiE /G
H—/ 64 . B %ﬁ—ﬁﬁzﬁﬁﬁﬁﬂvgﬁﬁﬁdﬁmﬁﬂ &R —A A, BAE 45
4 15 M ERR . REHIEENFLEL 120 7, K —&. '

F—T A RAABHLHHA
LTS Ve k&

— A5 HEREA 10 AR FF X

(—)aEEtE SR

CRE B X T R B M S FE AT B AT &b R A R AZEfIAL L A4 . BB =N R Y
Y& FATIRE] . A FRY#R 0 2 : When, How long, How much time,How many—+ 4% 1], what
time...? F where...? M. :
#1(D M Mary, after I finish my homework at school, I’'m going to the library.
W. Ok, I’m just going to stay home.
Third voice: Where is the man now?
BRI A : A)At home. ‘ C)At Mary’s home.
B) At school. D)In the library.
#@. W: When will your girl friend be leaving for New York?
M: I’m not quite sure. She told me yesterday that she would leave on Monday, but she
told me this morning that she would leave on Wednesday.
Third voice;: When will the man’s girl friend leave for New York?
:@Iﬁjﬁl :A)Either on Wednesday or on Monday. C)On Monday.
B)On Wednesday. D)Either on Wednesday or on Tuesday.
FHERVEARERETR— T EER. BB ER 1 Z2%5H 8,6 2 2%6t
6] XEESEE GV, FTHRESEH BTG 5, R BRI B R R S8 17] , A i il R T, 2B
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HB1EFER BB 2K A,
- (DOREFFAZEIFXER R .56 XEE

X Fha) 42 a1 % A : What, Who, Whom is. .. ? To whom is... ? F3k. 0.
#| (@D M :Could you please tell me at which stop I should get off for the Metropolitan Museum?
Also, how much is the fare? '
W Of course. You get off at 82nd street and walk one block. I’ll tell you when you get
there. The fare is fifty cents. Just put it in the fare box.
Third voice: What is the probable relationship between these two people?
%I & : A)Customer and mérchant, C)Passenger and conductor.
B)Daughter and father. D)Doctor and patient.
#1l@W . Rober worked as a secretary for three years. Then he became a newspaperman, and
after that he started writing novels.
M. I know. And he has been doing nothing else ever since.
Third voice; What is the Rober’s occupation now?
FEIA A . A)He is a novelist. \ C)He is a secretary.
B)He is a newspaperman. D)He is a businessman.
3. M : Harris? This is Frank Gillespie. I’1l take a message for your husband if you like me to.
W No,thank you. I’ll tell him myself at home tonight.
Third voice;: To whom was the woman talking?
I 4 : A) The husband’s secretary. C)A friend.
B)MTr. Gillespie. D)Her husband.
f5|@. M : Although Jane is British,she has lived and worked in the Far East for most of her life.
W : Nc wonder she speaks Japanese, Chinese, and Burmese so well.
Third voice; What’s Jane’s nationality?
&30 A : A)British. B)Burmese. C)Chinese. D) Japanese.

XHER A 7 — R A TR B . A AR XHE SR A R TR 5 B 3A . B D B B9 3% stop. . .
get off. AR get off at. . .street..., HIHLTHIM C HIEH . O LB after that. . . writing
novels 15 #i}i. . . has been doing nothing else ever since. ¥ A BRIETAH . FIQF LI 2
ANZBERAMZAMGT WHEBABH KT LU B HIEM., HI@MN although X4~k 4
WL HBIER N A, BARBHERSBERREROXRRBHEAZ G,

(K ELEE. SR . FTHEHITH

(D). M :How much are the tickets? ,
W : They are ten dollars each for the general public, but student tickets are half price.

Third voice: How much will the man pay for two student tickets?
#E$EIW : A) The man will pay ten dollars.

B)The man will pay five dollars.

C)The man will pay thirty dollars.

D) The man will pay forty dollars.

g



#1@. W Tom must be over 20 now. )
M:Yes, when Tom left New York ten years agoA, he was already 16.
Third voice: How old is Tom now?
HEFEIR . A)Sixteen. B) Twenty-six. C)Twenty. D) Thirty-six.
MIETRA] LAE X BT B0 T A R8T, Ui 18 1\ A , 78 K b ifﬁfﬁ—%ﬂ’]bﬂm
Febr, AR ERERFION A, H@H B,

(I EWHAFTRXR L5 ERFE

X Fis B 2 S IR R R R R B — s Ak . [l
B .what, what kind of 8 which...?
#|(D. W My grades are higher than Susan’s and lower than Sideney’s.
M: And mine are higher than Sideny’s.
Third voice; Whose gradés are the lowest?
HEFEIN ; A)Susan’s. B)Sideney’s. 'C)The man’s. D)The woman’s.
f5](2). M : Mike’s brother said Mike had been waiting in Shanghai for two weeks and still hasn’t
gotten his tickets for America.
W . That’s strange. I thought he had planned to go to Beijing to purchase them himself.
~ Third voice: What news did the woman hear from the man?
#EFEIR . A)Mike’s brother is waiting in Shgnghai for his tickets.
B)Mike had been in Shanghai for two weeks waiting for his tickets.
C)Mike went to Beijing to buy tickets to America.
D)Mike will have to go to Beijing to get his tickets.
£ ®). M :1 was hoping that you’d wear your new dress. It’s much prettier.
W . But this one is more comfortable for hot weather.
Third voice;: Which dress did the woman wear?
% FEIR : A) The new one. C)The prettier one.
B) The more comfortable one. D)The one that the man likes.

M O i 7Y A 3 T0 & B X 35 B A N SRR 3 K B 55 5B A~ A, Susan #1 Sidney ., 1 EWH &
higher than. .. ffl lower than. .. {87, B[ E EREERN A. \BI@M 427 Mike had
" been waiting. .. two weeks. .. still hasn’t gotten... Wi £ B HE#. 4@ M hoping. ..
wear. .. new dress I A But.... WX B A IERER. Ehbut BEIHEFHITERNA
THEREEE bue XHMHETEEH. ZFENFHNEET AP EAMEITALLE, @
although, even so,even though,in spite of , unless, but, no, never, not, neither. . . nor £ Xt
R A, % A ST AL O AR R A O ELIE & SR DEE A X R B AR
BERE R, B ERREE .,

(BEEREATHAR . BRREEFEES

XHEMME FRREFENEAT, BRI ITE, XFEREZEHF. EWEHUH
HHZW., [HaE)EE:

How does /will/ did the man/woman spend/work. .. ?



How does / did the man / woman feel?
Why does / will / did the man / woman want / think / say? M.
#@. M It is such a find day. Why don’t we climb the mountain?
W: Oh, I would love to,John, but I have been busy thses days.
Third voice;: How did the woman feel about John’s invitation?
HE$EIW : A)She wouldn’t go because she was busy.
B)She wouldn’t go because she didn’t like him.
C)She would go though she was busy.
. D)She would go because climbing the mountain might do her good.
] @. W Did you see the football game on T. V last night? The last 5 minutes were really
exciting ! '
M: I know. I heard. But there was a power failure in my area and I missed the second
* half of the game.
Third voice: Why couldn’t the man see the end of the game?
##EIM : ADHe didn’t have TV. ’
B)He didn’t want to watch the game.
C)The gafne wasn’t shown in his area.
D) There was no electricity in his area.
U ERPABIEE R AR but JTH. BT but FEMAE, BEANNA®E
L, FOBERN A BIQERHA D,

GOREFFHE N AERES

XFRBF LB R T AR . ERAERRE WM AR MM Eh E &R
HoOMEEHERAEANEEER  AHERENEES L AREAMES.ERL. R, X
R AR P AT MR 32 PR RSB AT B SR E AR R . R A R

What does / did the man / woman mean?

What does / did this conversation mean?

What does the man / woman imply / suggest / recommend?

What is the man’s / woman’s opinion /feeling about ... ?

reaction / attitude to ... ?
4 :M: I want to see the manager right row. »
W . The manager is out, sir, but if you have a cor'nplaint, I’ll assist you.
. Third Voice: What is the woman’s attitude?
#EFEIW : A) She is patient. C) She is indifferent.
B) She is hostile. D) She is helpful.

XENBEEBETERESE - PANE FEEHES . EL. BES ARSI A 5

ot s, BHEEER. ZHABEREHN D.

EORBPREFABTFHER
XX IERAE HIREARBHOER. ¥ RARADEE.
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What can / do we learn / know from the conversation?
What conclusion can we draw / do you make from the conversation?
Vhat informantion did the man / the woman give the woman / the man?
WNhat news did the man / woman / get / hear from the woman/ man?
Ji: W: Which colour would you choose?
M It makes no difference to me.
Third voice; What do we learn’from the conversation?
% #E3M . A) The man is not interested in colours.
‘ B) The man doesn’t care which colour is chosen.
C) The man wants to choose his favourite colour.
D) The man likes the colour the woman chooses.
R R B R 2 A U B TE R KR, AR AN T, A HERR S AT IR N IE TR B R . %
ERA B,

JOBRHENE A4, 044 BSR4
SRR 5 R B R A T, TR AR B JL A SC BT ST T TR, 150 2 )

R

What is the man /woman talking about /discusing/complaining about?
What does / did the man / the woman tell. .. ? °
What does / did / will the man / the woman buy / agree ... ?
41:W: Would you mind if I visit your class this evening, Prof. Smith?
M: I have no objection to your visit. But the students will take their examination tonight.
Perhaps you can come next Monday.
Third Voice: What did the professor tell the woman?
3 I7 : A) Not to visit his class.
B) The class objects to her visit.
C) To visit his class next Monday.

D) The students will have their examination next Monday.

WES 6 GO WriEwrESE A NS HIEAS, B Ak B IERER C.
L RRRKIIER

MiEEBENRFRRSIF, M4 %R
What is the weather like? -
What will the weather be like?
. M. Lovely day today, isn’t it?
W It certainly is!
Third voice; What is the weather like today?
PeEEIR . A) It is cold. C) It is fine.
B) It is hot. D) It is warmer.
X B R B R B RR R R — 2L, ITE RN ABIRE LR E B R . %
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BERNC, ,
(P FBHEABM A ETHA FBUTHHEFA
AT AR T AR, K RES EEAT. RAHEE:

What does/will/can the man /woman do/plan to do ?

What does / did the man / the woman want/intend/prefer to do?

What is / are the man / the woman / they gOiflg A < F

trying to ... ?

f1: W: I’m here for my 9 o’clock appointment with Dr. Milton.
M: Why don’t you have a seat for a moment?

Third voice: What does the man want the woman to do?

M . A) Come back at 9. C) Change the appointment.

B) Sit down and rest. D) Wait for a while.

WEAEELANERY . EFREANELES L. ZEEEND.
=48 X ¥ AR 31 4 (section B)

RSCERERAIH 108, BB -BEZRES NAYRMEERZ, Ml SR H
Fite AL BB T E AR . XEBRARBK EREREHA X ERS R B4 HEREH
M—TE® . FBrRicESERAXHE SR, RESE, RPE MR XEXRE, L
i RAEER. Bim.

In the past 20 years scientists have learned a great deal about sleep and dreams. They’ve
discovered, for example, sleep and dreams affect the way people feel. A good night’s sleep
generally makes the person happier in the morning. Dreams also have a strong effect on the
moods of people. However, who appears in the dream is more important than what happens.
Every person has a special dream character. If this special character appears in dreams; people
would be happier after sleep. When a person wakes up.happy, the moods will affect his
periormance throughout the day. The level of one’s moods rises and falls during the day. The
less sleepy people are, the better the way they perform and usually they are more friendly, more
aggressive and more clear thinking.

’ Some day scientists hope to be able to control sleep in order to control the way people feel

and perform.

Questions 1 te 3 are based on the passage you have jusé heard .
(1) How many years have scientists learned a great deal about sleep and dreams?
A) 12. B) 20. C) 10. D) Not mentioned.
(2) What have scientists discovered about sleep and dreams?
A) Dreams and sleep affect people’s health.
B) Every person has different dream characters.
C) Sleep and dreams affect the way people live and work.
D) People need sufiicient dreams to make them feel well.

— 67
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(3)What kind of peréon tends to perform better during the day?

A) Less sleepy person. C) Friendly person.

B) Sleepy person. D) Aggressive person.

R FMIX =A BRI, AT AR T A 1 —ERAXRET. WHER,EEH
BERHE T AT T B B F . 814 2 DO A T ER A dream X A1d] , B W] 5 W SC &A1 (7] ] — 5@ 51X
AMAH K, 4] 3 EIFEA person XAE, FrUARNTTHERE A X FERICR —TiARH L
R AZPASW AW ELNBSAGEE. TRTXE, EETEXERE. £—0—
TENE. ERRXENEEL. MESE . FREEC. RTAXEEZHEGF L, FB—
FMAEERE, XHER AT EREL 1 8 B,2 5C,3 A,

FoW KRFHEEBEBWRTAREARARNSELA

—.1990 % 1 A K F REWLN ) RA |
Listening Comprehension (20 minutes)
Secticn A

Directions: In this section, you will hear 10 short conversations. At the end of each conversation, a
question will be asked about what was said. The conversation and the question will be
spoken only once. After each question there will be a pause. During the pause, you
must read the four choices marked A), B), C) and D), and decide which is the best
answer. Then mark the cérresponding letter on the Answer Sheet with a single line

through the centre.

Example: You will hear:
You will read:A) At the office. C) At the airport.
B) In the waiting room. D) In a restaurant.
Sample Answer [A] [B] [C] [D]
From the conversation we know that the two were talking about some work they have to
finish in the evening. This is most likely to have taken ploce at the of fice. Therefore, A) ‘At
the of fice’ is the best answer. You should chcose answer A on the Answer Sheet and mark it

with a single line through the centre.

1. A) The man wants to go Los Angeles.

B) The man wants to go San Francisco.

C) There are no flights to Los Angeles for the rest of the day.

D) There are two direct flights to Los Angeles within the next two hours.
2. A) He enjoys writing home every week.

B) He never fails to write a weekly letter home.

C) He doesn’t write home once a week now.



D) He has been asked to write home every week.
3. A) Because she has got an appointment.

B) Because she doesn’t want to.

C) Because she has to work.

D) Because she wants to eat in a new restaurant.
4. A) The teacher postponed the meeting.

B) There won’t be a test this afternoon.

C) The students will be attending the meeting.

D) The students will take an English test this afternoon.
5. A) On the whole, she liked the film.

B) She didn’t see the film.

C) The film was every exciting.

D) The film wasn’t as gocd as she’d expected.

6. A) Around 5:00. C) Around 3:00.
B) At 2:00. D) At 1:00.

7. A) He had to work overtime. C) He was held up in traffic.
B) His car ran out of gas. D) He had a traffic accident.

8. A) John Smith isn’t in right now.
B) John Smith can’t come to the phone right now.
C) John Smith doesn’t want to speak to the caller.
D) The caller dialed the wrong number.
9. A) Yesterday. C) Three days ago.
B) Two days ago. D) .Early last week.
10. A) She got up later than usual." C) The bus was late.
B) She forgot she had classes. D) Her clock was slow.

Section B

Directions; In this section, you will hear 3 short passages. At the end of each passage, you will
hear some questions. Both the passage and the questions will be spoken only once. A fter
you hear a question, you must choose the best answer from the four choices marked A) ,
B), C) and D). Then mark the corresponding letter on the Answer Sheet with a single

line through the centre.

Passage One
Questions 11 to 13 are based on the passage you have just heard .
11. A) 4000 years ago. C) 2000 years ago.

B) 3000 years ago. D) 1000 years ago.
12. A) The small bowl was put above the large bowl.

B) The large bowl was put above the small bowl.

C) The small bowl was put inside the large bowl.

g -



13.

D) The large bowl consisted of two equal parts.
A) Horsemen. B) Brass doors.
C) Drops of water. D) Metal balls.

Passage Two

Questions 14 to 16 are based on the passage you have just heard .

14.

15.

16.

A> They are most attractive women in Britain.

B) They are the most popular film stars.

C) They are the first women news announcers on British television.
D) They appear almost every night in TV plays. )

A) At 10 in the evening. C) At 9 in the evening.

B) At 9 in the morning. D) At 10 in the morning.

A) People still talk a lot about it.

B) Fewer people watched Susan’s programme from then on.

C) Anna’s photographs appeared frequently in newspapers.

D) The number of viewers of her programme that day increased by millions.

Passage Three
Questions 17 to 20 are based on the passage you have just heard .

17.

18.

19.

20.

A) It is completely flat. C) k has few rivers.

B) It has many large lakes. D) It is hilly.

A) The soil has been overworked. C) The climate is cold.
B) The weather is too dry. D) The soil is sandy.

A) By raising cattle. C) By working on farms.
B) By working in factories. D) By raising sheep.

A) At school. _ C) From their parents.
B) From books. D) In factories.

Z B @Y%
Model Test One Listening Comprehension (20 minutes)

Section A

Directions ; In this section, you will hear 10 short conversations. At the end of each conversation, a

1.

2

question will be asked about what was said. Both the conversation and question will be

spoken only once. After each question there will be a pause. During the pause, you must
read the four choices maked A), B), C) and D), and decide which is the best answer.
Then mark the corresponding letter on the Answer Sheet with a single line through the

centre.
A) At a post office. C) At a library.
B) At an airpoft. D) In a bus.
A) In a fortnight. C) In a month.



B) In two days. D) In three weeks.

3. A) 7.40. B) 8:20. C) 7:20. D) 8:40.

4. A) Get medical advice. C) Become a doctor.
B) Find a better doctor. D) Calm down a little.

5. A) Salesman and customer. C) Landlady and lodger.
B) Teacher .and student. D) Secretary and boss.

6. A) Her key is found. C) She can’t open her drawer.
B) She has lost her bag. D) She has not any paper.

7. A) She thinks the man’s idea is splendid.
B) She dose not believe what the man said.
C) She liked the beach but she can’t go there.
D) .She enjoys taking vocations from thinking.

8. A) A policeman. C) A soldier.
B) A army officer. D) A passer-by.

9. A) Cold. . C) Warm. )
B) Colder than ever. D) He doesn’t know.

10. A) He had an earlier engagement.
B) He was too busy at the moment.
C) He didn’t enjoy going out very much.
D) He had something-to prepare for.

Section B

Dirctions: In this section, vou will hear 3 short passages. At the end of each passage, you will
hear some questions. Both the passage and the questions will be s.poken only once. After
you hear a question, you must choose the best answer from the f our choices , marked A) ,
B), C) and D). Then mark the corrsponding letter on the Answer Sheet with a single
line through the centre.

Passage One

Questions 11 to 13 are based on the passage you have just keard .

11.A) New York. C) San Francisco.
B) Florida. D) Chicago.

12.A) Winter clothes. ‘ C) Summer clothes.
B) Spring clothes. D) Sports suits.

13. A) Because he left the plane tickets on the piano.

B) Because he wanted to play the piano during their vacation.
C) Because he liked his piano.

D) Because his wife wanted to bring the piano.



Passage Two

Questions 14 to 16 are based on the passage you have just heard :

14.

"15.

A) In US boys and girls start school at 5.

B) In US boys and girls leave secondary school at the same age.

'©) In US boys and girls may stay in school until 17.

D) In US school age limit differs in different states.

A) They pay for their children’s education instead of paying any tax.
B) They pay for their children’s education though they have paid tax.
C) They ask the government to help.

D) They ask the community to help.

. A) Because he wants more moneny.

B) Because he is not born of rich parents.

C) Because his parents are unwilling to pay for his college expenses.

D) Because he is asked to do so.

Passage Three

Questions 17 to 20 are based oy the passage you have just heard .

17.

18.

19.

20.

A) 70,000. C) 650,000.
B) 28,000. D) 17,000.
A) Webster’s New Dictionary. C) Webster’s New World Dicticnary.
B) Webster’s New Word Dictionary. D) Webster’s World Dictionary.
A) The letter S. C) The letter Y.
B) The letter Z. D) The letter H.
A) An entry is a word.

B) Letter X has the fewest entries in the dictionary.
C) The dictionary has well over 100,000 entries.
D) The highest letter in the dictionary covers more than 200 pages.

Model Test Two Listening Comprehension (20 minutes)

Section ‘A

Directions: In this section, you will hear 10 short conversaions. At end of each conversation, a

1.

question will be asked about what was said. Both the conversation and the question will

be spoken only once. After each question there will be a pause. During the pause, you

must read the four choices marked A), B), C) and D) , and decide which is the best

answer. Then mark the corresponding letter on the Answer Sheet with a single line

through the centre.

A) In a restaurant. C) At an airport.



B) In a hospital. D) At a railway station.
2. A) They are watching TV.

B) They are listening to the radio.

C) They are swimming the Channel.

D) They are changing their news programs.

3. A) Vegetables. B) Clothes. C) Meat. D) Fruit.
4. A) Wife and Husband. C) Mother and Son.

B) Babysitter and Baby. D) Father and Daughter.
5. A) Red. B) White. C) Yellow. D) Blue.
6. A) 12.05. B) 11.55. C) 11:40. D) 10:25.

7. A) Mary has never studied mathematics.
B) Mary must be good at mathematics.
C) Mary enjoys learning mathematics.
D) Mary probably is poor at mathematics.
8. A) She can’t unlock the door.
B) She has lost the key.
C) She wants to wait till the man comes.
D) She likes to stay outside.
9. A) $2.50. B) $1.50. C) $4.50. D) $ 3. 00.
10. A) He thinks that they ought to go to the coffee house.’
B) He only wants coffee because he isn’t hungry.
C) He wonders if something happened at the coffee house.

D) He thinks that something is wrong with the coffee house.
Section B

Drrctions : In this section, you will hear 3 short passaées. At the end of each passage, you will
hear some questions. Both the passage and the questions will be spoken only once. A fter
you hear a question, you must choose the best answer from the four choices marked A),
B), C) and D). Then mark the corresponding letter on the Answer Sheet with a single
line through the centre.

Passage One

Questions 11 to 13 are based on the passage you have just heard :
11. A) 200,000. B) 100,000. C) 10,000. D) 110,000.
12. A) A lot of commuters enjoy travelling by boat.

B) A lot of commuters enjoy travelling by car.

C) A lot of commuters enjoy travelling by bus.

D) A lot of commuters enjoy travelling by train.
13. '‘A) People who travel from one place to another.

B) People who travel back and forth regularly.
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